| Efficiency vs Dxy |
0.2
<

5 A
B S A S A
< A
@.16:—----§------€ ------- Rl ROt AEEE Ay AR
> R N A S A () IR IR
K e A
© o : : : :
O e S A
P S S .
0,08t L
008

...........................

008 e

o2f- |
o+

Rati

09—525 “STIETIGoE 0 B 16 1530 35

TP dxy (cm)

-
—+—D

| Efficiency vs Dz | M_V0001~R000000001" Global”

—a— U§IVI VUUUL RUUDUUUOUL — GIoDdal

—__D

—V0001~R000000001_Global—_mkFitNew

mKI—I[UI'IgInaI I'(OI:bU

mkFitNewHpTt_ RECO

—V0001~R0O00000001—Global——mkFitNewDetg —RECO

—mkFitNewDett "RECO

M_VOOOl_R000000001_G|Oba|
N 0.1 ; ;

o T ——

5‘ E : : : : :
POB
@) r : : : . .
.07 o (A R frorereeeee A
= 5 5 5 5 5
e S I T s S
1SS SRS (s . S —

0 ::jH:;t“jjéi:jjjjjjjj§:jjjjjjjjjj
(7R S - 8 M | RS B
0 wh -

o+

2030
TP dz (cm)

10




	Contents
	Page 1


